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B46 E6 9C c84 645598.ntm 1. There was once a town in this
couontry where all life seemed to live in with its
surroundings. A. coincidence nJ [0 [J [0 (coincident adj] O O [
[1) B. harmonyl] O n (disharmonyd [ [ disharmornious adj

[ harmoniousadjJ O O O )C.ouniformU 0 OO0 00O OO O
00O D.allianceld I [0 [J answerl] B 2. The court considers a
financial to be an appropriate way of punishing him. A.
paymentl] [ 0O O O O O B. obligation [ I 0O C. option v[
OnO0O D.penaltyDl D 0D 000000 0O00ONOO
appropriatel] O O 0O O O answerld D 3. It is true that a
wild plant into a lajor food crop such as wheat requires much
research time.(CJ OJ O ) A. multiplyingtd O OO O O B. breedingd [
000000 )Obreeding n O O new breedingd U [

[J anger generationd UJ [0 00 O O O O O beat generationd [ [ [
[ O C.magnifyingtd O O O D.generatingl] U O 0O O O O

[ multi - O O O mono - stereol] [ L1 monocracyl] [ [ [
monopolyd O 0O O antitrustl] O O trusttd O O concernl] O [
monopolize vl [0 OO OO monk0 solitaryl] I OO nunl] O - logue
monologueld 0O O O OO multituded O O 0O answerl] B4. The
government has devoted a larger slice of its national to
agriculture than most other countries. A. resources] [ [ [

[1 resoueces (HR) O OO OO OO A B. potential adjJ [ U n [

A C. budgett] OO D.economyL] [ nglobal economyl [ [ [J [




[1 O globalizationd I 00 econmistl] [ I [0 economicsC] [ [
landing economicst] [ [ I [0 demographic economicst] [ [ [
[J economicall] [0 OJ 00 OO 00 answerd C 5. In this poor country,
surival is still leading industry. all else is A luxuryO O O
0000 @CuUXd O oOo)B.accommodationd U 0O OO OO

[1 (recommendation] [J ) C. entertainment D. refreshmentJ [ [
OO0O000 allelsed OO O OO answerld A 6. some eciminals
were printing dollar bills until they were arrested. A.
dencentld O O U O 0O O O O B. fakel I fakce dollar C. patent[]
L adjid O O O Intellectual (O U O O ) Property (U O)0O O O

[1 asset[] [1 fortuneld [ fortunatel] 1 (L1 O I ) elephant man (L
0 O 00O 0O)amanwithagood fortune (I O 00 )0 D. suspicious
(00O 0O0O0O)suspectld O O OO be suspicious about something
0000000 besuspicious of sbld LI [ O O O O suspicion n
[ O answerl B 7. Mr. Bloom is not now, but he will be
famous someday. A. significantl O 0 O O O O O B. dominant[d
DO000o00dodn(dominatevld OO 0O OO OO O board
O O 0O bill boardd O 0O O O ) C. magnificent O O 0O 0O OO0
D@ oodg)D.prominentdd OO0 O0OOOOOOO (very
Important peason VIPL [ [ VSP very significant personl] [1)
answerl] D 8. His body temperature has been for 3 days,
the highest point reaching 40.5 degree centigrade. A. uncommon(]
00000000 B.disordered C. abnormall] O O O x D.
extraordinaryl] [J [0 Aab- [0 [ away abusel] [J abortiond I [
[ abruptd O O O O O abstractd O 00 O O abundantd O O O
1 O answerld C 9. He seems to be enough to climb to




the mountaintop tinanhour. A.radiantU O D O 0 OO0 OO O
B. conscientious (LI ) C. conspicuousl] [ I (L0 O)U O O O O
OO0O000 D.energetic DD 00000000 @UOOOO
DOo0oOood)hldlsocot 0O OOOOOO mountain 10000
0000000 answerld D 10. Although cats cannot see in
complete darkness their eyes are much more to light than
humaneyesare. x A.glowingU 0 OO0 OO0 OO00OOOO)B.
brilliant] OO O (O O O O O O ) outstanding (stand out) C.
sensitivel] O UJ D.gloomyd O 0O OO Ocurved (U O OO OO
DdodO0O)answerd COOOOO2010060 0000000
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